AL RIS E =



REVERMATIC 11-700
) IR H LRSS

REVERMATIC B— &I T NAHTUIRR R OEFAFIRESHEI NRETER,
ESE-TRENTEREERDETA— TSR VEERNEETREN MBS RR DTS, GEHRRFEERIVIEN X
DIRETRHEEN, LHRBEET RN SAEBHNNMEE, EENFREL. RESGHEYBRROQRES, Rivks
PIREANNERBEPESE,

C
B
AHBEBO
1/2’ - 14BSPP
A THESEENHO T
J EAED M16x1.5
M14 x 1.5 EBSEED P IRD
H 1A -19 BSPP
\%\ fl s
£ L]
N A0
1 L2 Bl K {4l
D
& -
X < MEBORTER ﬁ
U &
= I # ¢ i
2y ; 7
[%) * <—H
W 2 U : I I
5 i
0 | 1
O
M - ﬁ
D BORERD®EM |
X V
A
SN2 R~t mm (inch)
SAE | %=
erlgm| A|B|C|D|E|F| & [H|J|[K|L|] M Pla|R|s|T|lul|lvVv|w|Xx]|Y
BERxKE S EEXKE
3-10”|DIN120|369.7| 352 | 403 | 219 | 56 | 78 |M12X25| | 222 | 207 | 231 | 104 |M12X21 °| 63 |35°| 230 |178| 216 | 243 | 146 |236.5| 218 | 297
4-10" [SAE 1410] (14555) | (13.858)|(15.866) | (8.622) | (2.205) | (3071) | (120098)| # | (8.74) | (8.15) | (9.094) |(4.094)] (1210.83) (2.48) (9.055) |(7.008){ (8.504) | (9.567) | (5.748) | (9.311) | (8.589) |(11.693)
BARSH
feaiit EE | e Y% | BAEE | BARE | mmE | TEESH | GRS e il
FWD = REV REH ! e ! TIERE
N
0.85:1 75 kW BN 24 KW (32 hp)
1.04:1 100 h Bx. p o
T 108 kg 71 (100 hp) TOONM | o0 o | 1224 Vde | 14bar | o0 Lo 3 bar (43 psi) 100°C
1881 (2238 Ib) | (1.85 gal) AR (516 Ibft) 27W (203 psi) 1.51(0.4 gal) /min100 rpm (212°F)
2.25:1 95 kW ' '
(125 hp)
402 RC - 2204 1




RANGERMATIC 700
) DS H LR

RANGERMATIC R—MZMHNBRHTRTE, B8—1. R MHAZ=TRENEFE— TR MEIE, SR FERRR TR EGR

DEHBREEENTWNE, EE28E—TIEREDNE. RESSSSBTNSEDN VIeEEENTEN SRR NTRE

25, MAOTIESNEFERTRERDVBAENEFNALR, B8, @R OTHESER T NIMERE, BRI NFREE. RE
SR BRIEOPIES, QNGEEPEESFNNNEREZPEE,

o
B
H PHEENHO
, BOBEN P 0
BEHE 60 12 14BSeP 19 BSP;ﬂﬁ
1828 BSPT J E/MEHD T
Midx15 ‘
TR0
M16x1.5 R
AHEEHO
K 12’ 14BSPP i .
1o °4.
MBORER ne B
\ Al ﬂ
f e
! I F
w U d il
€
O L
~/ ’
[
\ e
b HOBERDEM
A
MR~ mm (inch)
SAE | #=
A|lB|lc|D|E|F H|J | K]|L o|p Rls|T|ul|vVv|w]|X
NET G M N Q
BERxKE|NE BR KB uE|aR « B4
3-10"|DIN120[451.7 | 444.7| 485 [218.7| 56 | 78 |M12x25| | 229 | 207 | 206 |103.5|M12x21 81 12x12 2t 225°| 63 | 35° | 230 | 178 | 230 | 243 | 146 | 237 | 218
al ai
4-107 [SAE 1410] (17.784)((17.508)|(19.094)| (8.610) | (2:205) | (3.071) [M12:0.98)] * | (0.016) | (6.150) | (8.110) | (4.075) | (W121083) | g0 (047210472 g0 (2.480) (0.055) | (7.008) | (9.055) | (9.567) | (5.748) | (9.331) | (8.583)
HARSH
L AEHEE
31-700 21-700 22-700 31-700 21-700 22-700
&) ) i) il ) i)
2.75-1.882-0.865 FWD 12'537852'_16888625':':"\‘/’\,% 1.882-0.865 FWD 123 kg 117 kg 123 kg
1.882 REVERSE 1 882 REVERSE 1.882-0.865 REVERSE (271 LB) (258 LB) (271 LB)
BARSH
e hE BAHE | BA®E EE ] MIEEH | s A it
TiERE
BN
75 KW _ o 321
8l (100 hp) 700 Nm 3000 pm | 12/24Vdo 14 bar 25 micron ﬁ7§ s:r ( 43(25) P) 100° C
(2.11 gal) NBE (516 Ibft) 27 W (203 psi) 1.51(0.4 0al) /min/ 100 rpm (212° F)
95 kW
(125 hp)
2

402 RC - 2204



REVERMATIC 11-700 RBD
SPD11S “PTO” FHFRevermatic ] Rangermatic

Rangermatic 11-700 RBD: &ABF T \IA7A

yE
» 200

HENHRRFANGAEA NS ETRMMARIIRE. JEERET KA SAE J617

A SAE U620 #R& IEA KIETEIMBARSHA TN, PEENNAEREEPRERNFEFIN B BHRITIVOREFIRTPE. RBD
MBS RERE, MMEERNAEREIN,.

C

. T ahARAEDR
J E0tED HOBEN PO
T e
14x1.5 YA 1/4” - 19 BSPP
! E}B il
i R
‘-‘ & » D N
T & R
TH—t—y = 1/8'-28 BSPT
E T/TA
— B' C E F
— = ) ] l
p -
N
N G R
IR e 1/4"-19 BSPT
A HARSH =AHEN
ale | e o = | = | &
- 14000
7.5 | 635% [ 108°2 [ M10x12.5 J| 127 || T
(0.295)| (2.5) |(425°™)| (M10x0.4%2) (5) | (6.85) | 3.03)
SMER~H mm (inch)
;{\}E ;?:E AlB|lc|D|E]|F G JlL M N olplalrR|s|u|lv|w]|x
BRXKE |¥8 BRxKE (48| BEEXKE [

DIN120 | 323.8 | 316.8 | 357 | 1728 | 56 | 78 | Mi2x25 207 | 1035 | M12x21 aBt 12x12 a2t 205°| 63 | 35° | 230 | 178 | 243 | 146 | 2365 | 218
4107 | Sag 1410 |(12.748)|(12472) | (14.055) | (6.803) | (2:205) | (3.071) | (M121088) | 4 | (8.150) | (4075) | (M12x0.83) | . [047200472) 0. (2.480) (9.055)((7.008)| (9.567) | (5.748 | (9.311) | (8.583)
BARSHE
f&zhtt EE o : | = = s ; o ) 55
o hey | maw | ME | WE | Bk | BAE | mmA | TEEN | 0EE ARF IS % Ihes

] T
0.85: 1 85 kg 130 kW 303—6M SA 10kW (13 h
104:1 (187 Ib) 31 | (175hp) | 560 Nm M| 42/24 Ve 12 bar . & (13 hp) 100° C
Taoid ngg | (0.8 gal) n (442 Ibft) 27 W (174 psi) | 22 micron 8 bar (43 psi) (248° F)
58] hok ' ABfiE B0 1.51(0.4 gal) /min/100 rpm
e 100 kg 140 kW 3500 rpm
(220 Ib) (188 hp)
O T\UmWEs m 360°53 AT 21 Tk T
TN ASNEE1R i el s s
_ _ 16/32 13T _— o132 18T
SPD11: AB2WHRLZEER N KT Revermatic i
ZXRangermatici®RfE (R NTREES) 2B, SHREDN
N\ A N
SPD1141FiEi360° LIBEBA ER, ; T
f —
W\
& = l/
I al -
5pE R~ mm (inch) . . N
SAE | SAEEH
@A | BFoe | A | B C P MNP O] Q@ BABH
1o 54 gk | Bk | 4mk | ®k | ##®
10" 1205 | 2185 | @120)| 95 | 404 | 210 | 393 | 202 | 288 B | WAEE | HE i g
i1 (4.744) | (86) | a9 |(0374) | (1591) | (8.268) |(15.472)| (7.952) |(11.339) 50kg 560 Nm o )
2 (1.559) (M0lb) | @131ft) | (125 Ibft) P

402 RC - 2204




DHFE DP280 ((REERSS)
T ZEHI5he8 SL750 WEHIT)

IRANSELUD)

industrial & marine

SENFE: OLU@A =S Rangermatic %t B % sl 83 % 3 Revermatic 5§ Rangermatic, D EIfSEAEIE, TUIEKE360°%E,
DERFPHEBRIEES. Ot SL750 HEEHIZ=HaBEGHRERN, BN ERABRRATREAERN, FAR2EHED
RIEERS, BRUHAARINERNEDIRIES . M5 Rangermatic 5§ Revermatic 3 —i2lt, SL750 3@ITE =% B0 254N

B, BT EEENZRERE, D—==—E =
— G ~— EmeE
I N |
! o
U4 _W il =
F—
My
I[;
E,
- &
% ¢
B
®
SN Rt mm (inch) BARASH
EE s F B | .= | Wl | &K | &AW | &%
x| ww | A E G Pl |wmm| ™8 | pm | me | NEE| #i
DIN120 | DIN120 | 225 | 168 1445 305 339 30kg | 3l 1700Nm 115
=INPUT 3500
SAE 1410|SAE 1410| (8858) | (6614) eeeg) 12144 1g ) ) w2ty | (3at) ©61b) | (08 gal) g0ty | S0P
1.6
=R 2
2.9
O
& SHEHITNEE 3.3
e C e 3.9
< S\l o ) { 42
SREZER 5
n . o~
T > =17 ~K e
° o DE : FMEBRARDZ 788
Pary _ d —
~ 0 fgq b
% b S Ehfa ERHI B2
u @2 ;ﬁk
i EIER
© © m:ﬁ h SH{TT 1/4"-19 BSP
& 0 ‘ P EHEEE
JRUHEE 1/4"-19 BSP
HABRK
HEBO M12x1.5 5=
HABER Tor i
BB vz« 5 o E; it 10 BSP 5MEZ R~ mm (inch)
Q R S T U V |ERREE
184 127 195 125 461.5 205.5 12/24V
S (7.244) | (5.000) | (7.677) | (4.921) | (18.169) | (8.001) | 38W
FERRRASH
5 n - - LB ENE SRENE
angermatic 5 e | R = =
inge . T T BIEH | AR
TRAE L R B8 e * B |RuEn | A% | Tsy | Ea
e 10 0o 18kg | 0651 | 590Nm 12bar | 1670Nm | 23bar 300 bar
v i (39.71b) [(0.17gal)| (4350ft) | (174ps) | (12320bfty | (334psi) | (4351 psi)

402 RC - 2204




W T2
AT

fahiEdl. Transfluid BYMEDIZHIRFETRE. BENZER, JUZRERIDERSL, BT BHNFN. XRAREESLERE
E#o

45 80

|
>

ThiE Thix
i hw  wees

j{®' I;ET

ﬁzooN v

166 femsE i

HR

A

Rangermatic s

BT RENFTRXEREDRME CHBER, RISTENITEESIIES Revermatic 7] Rangermatic EBYEBRIRDIMERA—E,
WIEMHERLE, TJREXE, BSESTRES TR R, HEA SL750 HEHIEIsSsOINADR, RS EHFE P H,

140
[5.51in]
BRBEHIA - ST 155 150

[6.10 in] 4 [5.90 in]

/ \

75
[2.95 in]
NS 31-700 21-700 22-700
B#hfE, wTCS PRND21
FEh PRN123 PRN12 PR,R,N12
- IR SLAIBIES

402 RC - 2204 5



TSC LRFEIIF TS
Nt

TSC: TRFGIRISITHIBSAIBHAIREER Transfluid &, €A
F=2& Rangermatic LTRFE, IEMEERFINSDES. ©
GLLOERS Transfluid ZXZBREYRET £, NEZEAETHBR
FBERINIERES, RRABCERERIITRBBIAN,

HYERID SYSTEM

ELECTREC RODE
FORURRD

BB 0.4 kg (0.88 Ib) BE 12/24 Vdc
134.6x153.2x52.2 IERE -30°C+80°C (-22°F+176°F)
(5.3'x6.03°2.05") BHIPER IP67

8 30% IRIELT 4 #0 48 pin

BfE CAN 2.0B Extended CAN Open

R~ mm (inch)

BTN NRELRBRERNT B, Transfluid IWETGMEERITERIN. PIEMNAHZETRNTE, TRBNERER
Wi NMERRIBITINA

TRANSFLUID s.r.l.

10.  Performances of the vehicle

10.1) Speed 18 knvh, vehicle loaded 9979 kg, slope = 0%

47 gear uansmission ratio

5 gear vansmission rato

6 gear vansmission ratio

Transmission atoof crop box (rpm et /rpm Adhesion facor
o Mechanica sficency

Aerodynamic drag cosficiont

Roling resistance of towed vefice  (kgh)

Transission rato of axle (pm inlet/ fpm outiel) 15780

-
wheels 8780, ‘Static radius of driving wheels (m)
Maximum speed in 17 gear (km/n) 14,82 Maximum speed in 1" gear (mph).
Maximum speed in 2" gear (km) 18,59 Maximum speed in 2" gear (mph).
Maximum speed in 3 gear (km) Maximum speed in 3" gear (mph).
Maximum speed in 4 gear (km/n) Maximum speed in 4" gear (mph).
Maximum speed in 5 gear (km/h) Maximum speed in 5" gear (mph).
Maximum speed in 6 gear (km/) Maximum speed in 6" gear (mph).
(speed = 0 km/h) L) 2000 (speed = 0 km) )
stall (speed = 0 km/h) L b stall (speed = 0 kmh) )
/
A
_ /

2
m’?on.m

Page 4/4

402 RC - 2204 6



HTV700 ] HTM700 ;8 8T e E
HM560 2551187t
GFIBBEZEEHSFEATD

N U.S.A. FRANCE
RFSF LR BRSERAT TRANSFLUID LLC TRANSFLUID s.a.r.l.

IR
E33E: +86.10.60442301-2
info @transfluid.cn

Auburn, GA 30011
Ph.: +1.770-822-1777
Fax: +1.770-844-1774

38110 Rochetoirin
Ph.: +33.9.75635310
Fax: +33.4.26007959

tfusa@transfluid.us tffrance @transfluid.eu
RUSSIA THE NETHERLANS
TRANSFLUID OO0 TRANSFLUID NORTH EUROPE B.V.
Moscow NL-3992 AK, Houten
Ph. +7.495.7782042 Ph. +31 (0)85 4868530
Mob.: +7.926.8167357 info@bellamarine.nl
tfrussia@transfluid.eu

baric[i=]

Global web site: www.transfluid.eu
E-commerce web site: www.buy-transfluid.com

TRANSFLUID S.p.A. ¢ Via Guido Rossa, 4 * 21013 Gallarate (VA) ltaly ® Tel. +39 0331 28421 ¢ www.transfluid.eu ¢ info@transfluid.eu
2204 - 402 RC



